(&) NP
_n_ Cnosxenne 10 100 (110 TOpH30HTANN)

Wms: Jlata: _ Orenka:
56+2= 29 +22 =
74+ 34 = 13 +48 =
34+ 100 = 81+1=
54+ 30 = 27 +41 =
99 + 23 = 56 + 60 =
71+ 54 = 53+ 50 =
12+76= 9+ 98 =
90 +52 = 17+72=
34 +39 = 81 +90 =
91 + 86 = 11+61=
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() Ny
_n_ Cnoxenne 10 100 (110 TOpH30HTANN)

Pws: Jata: ____ Ouemka:
56+ 2 =58 29 +22 =51
74 + 34 = 108 13+ 48 =61
34+ 100 = 134 81+1=82
54+30=84 27+41 = 68
99 +23 =122 56+60=116
71+ 54 =125 53+50=103
12 +76 = 88 9+ 98 = 107
90 + 52 = 142 17+ 72 =89
34+39=173 81 +90 =171
91 +86 =177 11 +61=72
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